

Re-appear GRADE SHEET of B.Pharma 2nd Semester Held in December 2019

	Examination Roll No.		Pharmaceutic					
Sr No.			PHR-Q	Total Registered	Total Point	Grade Point		
21100			Credit	Credit	Secured	average		
		Grade Awarded	Earned Credit	Grade Point	Point Secured			
1	13PHB036	C	4	5.00	20.00	4.00	20.00	5.00

F grade course to be repeated Date of Issue: 20-02-2020





Re-appear GRADE SHEET of B.Pharma 3rd Semester Held in December 2019

Sr No.	Examination Roll No.		PHR-I	ysiology-I PL-231 ts -3+1		Total Registered Credit	Total Point Secured	Grade Point average
		Grade Awarded	Earned Credit	Grade Point	Point Secured			
1	13РНВ008	С	4	5.00	20.00	4.00	20.00	5.00

F grade course to be repeated Date of Issue: 20-02-2020





Re-appear GRADE SHEET of B.Pharma 4th Semester Held in December 2019

	Examination			cology-I					
Sr No.			PHR-F Credit	PL-243 rs -3+1	Total Registered	Total Point Secured	Grade Point average		
51 110.	Roll No.	Grade Awarded	Earned Credit Grade P		Point Secured	Credit			
		D				4.00	16.00	4.00	
1	13PHB054		4	4.00	16.00				

F grade course to be repeated Date of Issue: 20-02-2020



Re-appear GRADE SHEET of B.Pharma 5th Semester Held in December 2019

Sr No.	Examination Roll No.		PHR-F	emistry –I PC-351 its -3	Total Registered Credit	Total Point Secured	Grade Point average	
		Grade Awarded	Earned Credit	Grade Point	Point Secured		geeureu.	g
1	13PHB021	В	3	7.00	21.00	3.00	21.00	7.00

F grade course to be repeated
Date of Issue: 20-02-2020





Re-appear GRADE SHEET of B.Pharma 7th Semester Held in December 2019

Biotechnol	ogy and Management Sciences																	_		
										Pharm	acotherape	utics and C	linical							
			Industrial	Pharmacy-I		N	Medicinal Chemistry-III				Pharmacy-I			Pharmaceutical Instrumental analysis-I						
Sr No	Examination				PHR-PC-471			PHR-PL-471			PHR-QA-471 (P)				Total Registered	1	Grade Point			
Sr No	Roll No.			Credits -3+1			Credits -3+1			Credits -0+1				Credit	Secured	average				
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured			
		C+				В												8.00	52.00	6.50
1	13PHB021		4	6.00	24.00	_	4	7.00	28.00	N.A				N.A						
	120110054									B+			В		7.00	7.00	5.00	39.00	7.80	
	13PHB054		N	ſ.A			N	I.A			4	8.00	32.00			7.00	7.00			

F grade course to be repeated Date of Issue: 20-02-2020

Prepared by Controller of Examination



Re-appear GRADE SHEET of B.Pharma 8th Semester Held in December 2019

Biotechnology	y and Management Sciences											
Sr No.	Examination Roll No.		PHR-l	Pharmacy-II PT-481	I	Pharmac	PHR-0	rumental A QA-481 lits -4	Total Registered Credit	Total Point Secured	Grade Point	
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured			
		D				С				8.00	36.00	4.50
1	13PHB021		4	4.00	16.00		4	5.00	20.00	0.00	20.00	50

F grade course to be repeated Date of Issue: 20-02-2020

